WHAEIFEAD I, MEFRETI 20014 6 H 5 HORBROMEEDE K

142z

1 (1) lim(1+22)"" log (1+1+2$) T OEARLL lm(1+ b)Y = e B,

(2) siny/z + a — siny/z = 2 cos ””“L‘Z“Lﬁ sin V”g*ﬁ Z WK,

2 f1(0), fL(0) Z EFICHESTRD D, L fL(0) = f1(0) 2RBIX f(0) 1TFF-ET D,
H L fL(0) # f(0) 22 BIE f/(0) IXAFAEL 22\,
EE —MIC f(z) 25 [0,a) BN (0,a) 5 FTEET xl_iglof’(x) = aDFET
WX, £L0)=ald (FHEOEEDR), T DOEREHWREL (Z 0@
DOFIMEWFEL 72 b DOLSN) RiEMEE LTz, EBS, RME3 b)) k5B L btz
DT, ZOX SRR RHIIER RIEEEZ T D,

3 (1) 1002z +1)(z*+z +1)% (2) (1+22)Ye{2(1 +2?)7! — 27 2log(1 + 2?)}
(3) €*(2z — 1)z=2 + (sinzcosz)™t (4) 1/v/1+ 22
(5) £ 0D L& f'(z) =2zsint —cosz, f(0)= hné (h?sint —0) =0
T 0)IRFEL T lim f'(z) ITFEL RN S ICER SR,

4 W

flc+ah)— flc—bh) @ f(c+ah)—f(c)+ b f(c—bh)—f(c)%ﬁﬁb\io

5 =
(a+b)h a+b ah a+b —bh




